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English Version

Answer any ten questions :

a)
b)
c)
d)
e)
f)
9)
h)
i)
)
K)
1)
m)
n)
0)

What approximately in the current rate of growth of population in India?

What percentage of India's national income in contributed by the secondary sector?
In which year was the New Industrial Policy of India announced.

Mention two adverse impacts of Green Revolution on Indian economy.

What do you mean by disinvestment?

What are the main sources of indirect tax revenue of the Govt. of India?

Mention two important export items of India.

What is Operation Barga?

What is mixed economy?

What is the percentage of population engaged in the Service Sector in India at present?
What is value added tax (VAT)?

What is import substitution?

What do you mean by foreign direct investment (FDI)?

What do you mean by disguised unemployment?

What is Clearing House?

Answer any three questions :

a)
b)
c)
d)
e)

What were the major objectives of land reform in India?

Mention some of the impacts of economie reforms on performance of Indian industries.
Distinguish between fiscal and budget deficit.

Indicate the factors that lead to the failure of public sector in India.

What are your suggestions to solve the problem of educated unemployment in India?

Answer any four questions :

a)

b)

c)
d)

e)

f)
9)

h)

What do you mean by structural change in an economy? Discuss briefly the pattern of change
in the occupational structure of India in the recent years.

Discuss the nature and causes of unemployment in India in the recent years.

Discuss critically the nature of reforms undertaken in the Indian banking sector after 1991.
Discuss how the process of globalization has affected performance of the Indian agriculture.
Briefly explain the causes of low productivity in Indian agriculture. What are the measures
to be adopted to increase productivity?

Critically discuss the monetary policy of the Reserve Bank of India (RBI).

Indicate the causes of adverse balance of payment in India in the post-liberalisation period.
Explain briefly the steps taken to curb this adverse balance of payment.

Give an account of the achievements and failures of India's five year plans.
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